Mod. Ques.Math-059

Mathematics

Model Questions-059

1.  The factors of x3 - 8y3  are

	(a)
	 (x-2y) (x2-2xy-4y2)

	(
	(b)
	(x+2y) (x2-2xy+4y2) 
	(

	(c)
	 (x-2y) (x2+2xy+4y2)
	(
	(d)
	 (x-2y) (x2+4xy+2y2)
	(


2.  The factors of  x2-x-72 are

	(a)
	 (x+8) (x+9)
	(
	(b)
	(x-8) (x+9)  
	(

	(c)
	 (x-8) (x-9)
	(
	(d)
	(x+8) (x-9) 
	(


3.  The factors of (a+b)2 - (a-b)2   are

	(a)
	 0
	(
	(b)
	 a2-b2
	(

	(c)
	 4ab
	(
	(d)
	 2 (a+b)2
	(


4.
The value of  16 3/4 is

	(a)
	 2
	(
	(b)
	 8
	(

	(c)
	 2(2

	(
	(d)
	4(3 
	(


5.
The value of 9 3/2 is 

	(a)
	 27
	(
	(b)
	 72
	(

	(c)
	 54
	(
	(d)
	 81
	(


6.
The value of 27 4/3 is

	(a)
	 54
	(
	(b)
	81
	(

	(c)
	108
	(
	(d)
	9
	(


7.
Simplify 813/4 x 216-2/3
	(a)
	 4/3

	(
	(b)
	 ¾ 
	(

	(c)
	- 4/3 
	(
	(d)
	 -3/4
	(


8.
What will be 5th term of the geometrical series 2,4,8,16, ....

	(a)
	 64
	(
	(b)
	32
	(

	(c)
	48
	(
	(d)
	80
	(


9.
The value of 5 % of 200  is

	(a)
	20
	(
	(b)
	10
	(

	(c)
	30
	(
	(d)
	15
	(


10.
The sum of the ages of a father and his son is 55 years.  After 16 years, the father will be twice as old as the son.  Find their present ages.

	(a)
	father's age 40, son's age 13 
	(
	(b)
	 father's age 35, son's age 14
	(

	(c)
	 father's age 42, son's age 15
	(
	(d)
	father's age 42, son's age 13 
	(


11.
Two men's ages are in the ratio 4:5.  In 10 years time, they will be in the ratio 6:7.  Find their ages.

	(a)
	 25 and 25 years
	(
	(b)
	25 and 20 years 
	(

	(c)
	 20 and 25 years
	(
	(d)
	 20 and 20 years
	(


12. Ram's monthly income is Rs. 700. If he saves 10% of his monthly income,

       how much does he save in a year ?

	(a)
	 Rs. 700
	(
	(b)
	Rs.720 
	(

	(c)
	Rs. 840 
	(
	(d)
	Rs. 72 
	(


13. A rectangular room is 15 m long, 10 m wide and 2 m in height. What is the area of its four walls?

	(a)
	 75 m2
	(
	(b)
	 100m2
	(

	(c)
	 120 m2
	(
	(d)
	300m2  
	(


14.
What is the diameter of a circle, whose circumference is 110 cm ? (( = 22/7)

	(a)
	 30 cm

	(
	(b)
	35 cm 
	(

	(c)
	 40 cm
	(
	(d)
	70 cm 
	(


15.
What will be the interest of Rs. 200 after 5 years at the rate of 5 % ?

	(a)
	 Rs. 10
	(
	(b)
	 Rs. 20
	(

	(c)
	 Rs. 25
	(
	(d)
	Rs. 50 
	(


16.
A retailer gained Rs. 50 by investing Rs. 500. Find his % gain.

	(a)
	 50%

	(
	(b)
	 10%
	(

	(c)
	15%
 
	(
	(d)
	 25%
	(


17. The area of base of a water tank is 3,000 cm2 and its volume is 1,20,000 cm3.  What is its height ?

	(a)
	 20 cm
	(
	(b)
	 50 cm
	(

	(c)
	 40 cm
	(
	(d)
	 60 cm
	(


18.
If 17 xy + 7 = 19 xy then 4xy = …..

	(a)
	 2
	(
	(b)
	 14
	(

	(c)
	3 ( 
	(
	(d)
	 7
	(


19.
The average of two numbers is xy.  If one number is equal to x, the other number is equal to:

	(a)
	 y
	(
	(b)
	2y
	(

	(c)
	xy – x
	(
	(d)
	2xy – x
	(


20.
Which of the following has the largest numerical value ?

	(a)
	8 / 0.8 
	(
	(b)
	0.8 / 8
 
	(

	(c)
	 (0.8)2
	(
	(d)
	 ( 0.8
	(


21.
If 4 cows produce 4 litres of milk in 4 days, how many days does it take eight cows to produce 8         

       litres of milk ?

	(a)
	 1
	(
	(b)
	2
	(

	(c)
	4
	(
	(d)
	8
	(


22.
20 students out of a faculty of 80 are transferred what percentage of the original faculty remains ?

	(a)
	 4
	(
	(b)
	 6
	(

	(c)
	 25
	(
	(d)
	 7
	(


23.
If 2x + y = 5 then 4x + 2y = ?

	(a)
	 5
	(
	(b)
	8
	(

	(c)
	9
	(
	(d)
	10
	(


24.
If x + y = 6 and 3x - y = 4 then x - y = ?

	(a)
	 - 1
	(
	(b)
	 0
	(

	(c)
	 2
	(
	(d)
	4
	(


25.
If x  ( y and a = b then

	(a)
	 x + a = y + b
	(
	(b)
	x + a < y + b 
	(

	(c)
	 x + a > y + b
	(
	(d)
	x + b = y + a 
	(


26.
If a > b and b > c then

	(a)
	 a < c
	(
	(b)
	 a > c
	(

	(c)
	 a = c
	(
	(d)
	 c < a
	(


27.
For which value of A and B is A/B > 1 ?

	(a)
	 A = 5 and B = 6
	(
	(b)
	A = 3 and B = 2 
	(

	(c)
	 A = 1 and B = 2
	(
	(d)
	 A = 1 and B = 1
	(


28.
If  0.6 is the average of four quantities 0.2, 0.8, 1.0 and x, what is the numerical value of x?

	(a)
	 0.2
	(
	(b)
	 0.4
	(

	(c)
	 1.3
	(
	(d)
	2.4 
	(


29.
If the length of the rectangle is increased by 20 % and the width of the same rectangle is 
decreased by 20 % then the area of the rectangle:

	(a)
	 decreased by 20 %

	(
	(b)
	decreased by 4 % 
	(

	(c)
	is unchanged 
	(
	(d)
	 increased by 20 %.
	(


30.
If n and p and are both odd numbers, which of the following numbers must be an even number ?

	(a)
	 n + p
	(
	(b)
	np
c. 
	(

	(c)
	 np + 2
	(
	(d)
	n + p + 1 
	(


31.
Triangle ABC has a following vertices: A (1, 0),  B (5, 0) and C (3, 4) which of the following is true ?

	(a)
	 AB = AC
	(
	(b)
	 AB = BC
	(

	(c)
	 AC = CB
	(
	(d)
	AC <BC 
	(


32.
( ABC is an isosceles triangle. (A measures 110° degree. The value of other each angle is

	(a)
	 35°

	(
	(b)
	 45°

	(

	(c)
	 70° 

	(
	(d)
	 65°
	(


33. The sum of two angles of a triangle is 80° and their difference is 20°. Find all the angles of  

       the triangle.

	(a)
	 70°, 10°, 100°  
	(
	(b)
	 50°, 30°, 100°
	(

	(c)
	 60°, 20°, 90°
	(
	(d)
	 55°, 45°, 80°
	(


34.
The area of a trapezium is given by

	(a)
	 Product of parallelsides   
	(
	(b)
	1/2 height (sum of parallel sides) 
	(

	(c)
	 Product of non-parallel sides
	(
	(d)
	Product of any two adjacent sides 
	(


35.
Pythogorous theorem can be applied to

	(a)
	 Parallelogram
	(
	(b)
	Acute triangle 
	(

	(c)
	 Obtuse triangle
	(
	(d)
	Right angled triangle 
	(


36.  In a right angle ( ABC, right angle is at angle B. If AB = 5 cm and BC = 10 cm, what will be the area of (  ABC ?

	(a)
	 10 cm2

	(
	(b)
	 25 cm2
	(

	(c)
	 35 cm2

	(
	(d)
	 50 cm2
	(


37.
ABC is a triangle in which BC is produced to D, CA is produced to E, ( DCA = 108o and 

     ( EAB = 124o.  Calculate ( ABC.

	(a)
	 52o

	(
	(b)
	25o 
	(

	(c)
	36o
 
	(
	(d)
	 48o
	(


38.
If 
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	(a)
	0
	(
	(b)
	3
	(

	(c)
	-3
	(
	(d)
	1
	(
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If 
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	(c)
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	(d)
	
[image: image20.wmf]ú

û

ù

ê

ë

é

7

6

5

4

3

2


	(


42.
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43.
Sin 2 A is equal to ……………………

	(a)
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44.
If sin
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	(a)
	1
	(
	(b)
	0
	(

	(c)
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	(d)
	4/5
	(


45.
The value of sin 150 is

	(a)
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46.
Sin750  + sin150 is equal to…………………

	(a)
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[image: image39.wmf]3


	(

	(c)
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47.
If cos
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	(a)
	600
	(
	(b)
	900
	(

	(c)
	1800
	(
	(d)
	300
	(


48.
nth  term of Arithmetic  series is……………..

	(a)
	a + 2d
	(
	(b)
	a +(n-1) d
	(

	(c)
	a + nd
	(
	(d)
	n +ad
	(


49.
If AM & GM of two numbers are 25 & 20 then these two numbers are……….

	(a)
	40 & 10
	(
	(b)
	10 & 50
	(

	(c)
	60 & 70
	(
	(d)
	1 & 0
	(


50
Sum of Geometric series of n term is………………….

	(a)
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51.
The sum of the 20 odd number is…………….

	(a)
	500
	(
	(b)
	200
	(

	(c)
	3,000
	(
	(d)
	400
	(


52.
Arithmetic mean between 12 & 36 is…………………….

	(a)
	12
	(
	(b)
	36
	(

	(c)
	24
	(
	(d)
	48
	(


53.
If the verticals of Rectangle are (3,4), (0,5), (2,-1) & (3,-2) respectively. Then area of Rectangle is…………………

	(a)
	10 unit2
	(
	(b)
	11unit2
	(

	(c)
	12 unit2
	(
	(d)
	 Unit2 
	(


54.
Angle between two straight line 2x-4+3=0 &  x-y-2 = 0 is………………

	(a)
	200
	(
	(b)
	100
	(

	(c)
	180
	(
	(d)
	190
	(


55.
If centre is (h, k) and radius is r, the equation of circle is………………..

	(a)
	(x + h)2 + (y + k)2 = r2
	(
	(b)
	(x – h)2 + (y – k)2 = r2
	(

	(c)
	X2 + y2 = r2
	(
	(d)
	 x2+ y2 + h2 + k2 = r2 
	(


56.
The Combine egn of x – y = 0 & x – 4y = 0 is……………………

	(a)
	X2 – 3xy + 4y2  = 0
	(
	(b)
	X2 – 5xy + 4y2 = 0
	(

	(c)
	2x2 – 5xy + 4y2 = 0
	 (
	(d)
	4y2 – 3xy + x2 = 0
	(


57.  If (x + a)2  + (y + b)2 = K the radius is………………..

	(a)
	K
	(
	(b)
	K2
	(

	(c)
	K1/2 
	(
	(d)
	K2/3 
	(


58.
If  a   = 4 i + 3j   &  b    = -3j  + 4j     then angle between a  &  b   ……………………

	(a)
	600 
	(
	(b)
	300
	(

	(c)
	900
	(
	(d)
	00
	(


59.
If a   = x,i  + y,j   &  b     =   x2 i  + y2 j , then a . b  is…………………….

	(a)
	x1 x2 – y1 y2
	(
	(b)
	x1 x2 + y1 y2
	(

	(c)
	x1 y1 + x2 y2
	(
	(d)
	x1 y1 – x2 y2
	(


60.
Magnitude of vector 3i – 5 jis…………

	(a)
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	(c)
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61.
Direction of vector 
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	(a)
	450 
	(
	(b)
	600 
	(

	(c)
	300
	(
	(d)
	00
	(


62.
Vector 
[image: image56.wmf]a
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 & 
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 are parallel when angle between Then is.. ………………

	(a)
	900
	(
	(b)
	00
	(

	(c)
	450
	(
	(d)
	600
	(


63.
In the adjoining figure the length of AB is…….






A


B

    C







12 cm

	(a)
	11m
	(
	(b)
	
[image: image58.wmf]m
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	(c)
	12 m
	(
	(d)
	10m
	(


64.
In the given figure the value of x is……..   
      Q


        2.4 cm

      




        



      

 R

R


                   

       P                  4.8 cm   

	(a)
	600
	(
	(b)
	300
	(

	(c)
	900
	(
	(d)
	500
	(


65. In the given triangle base is equal to…………….

 

      h

     




         P

b

	 (a)
	h2 = p2 + b2
	(
	(b)
	b = 
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	(c)
	b2 = p2 –h2 
	(
	(d)
	B = 
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66. If p(x) = x3 + 3x2 + 4x + p side x + 6 is a from of pcm then the value of p is ……

	(a)
	132
	(
	(b)
	231
	(

	(c)
	100
	(
	(d)
	101
	(


67. A polynomial with the highest power of the variable as 3 is called a ………

	(a)
	Linear 
	(
	(b)
	Quadratic
	(

	(c)
	Cubic
	(
	(d)
	Zero
	(


68. When 2x4 + 3x3 - 4x2 + 2x +1 is divided by x-3 then the remainder is ………

	(a)
	215
	(
	(b)
	214
	(

	(c)
	213
	(
	(d)
	412
	(


69. In the polynomial p(x) = ax2 + bx +c, if a,b,c are all integers then p(x) is to good be a polynomial over the ………….. 

	(a)
	Rationals
	(
	(b)
	Zero
	(

	(c)
	Integers
	(
	(d)
	None
	(


70.  In the figure   s ABC and DEF are similar value of p + q ……..

                                                                                                            D

                                                                    A


                                                                                                                     2 cm

                                                                                       1.5 cm

                                                     B                          C         E                         F

                                                              1.5 cm

	(a)
	0.9 cm & 1.2 cm
	(
	(b)
	0.8 cm & 12 cm
	(

	(c)
	3 cm & 0.4 cm
	(
	(d)
	0.9 cm & 1.3 cm
	(


71. Two triangles are similar by …………

	(a)
	AA
	(
	(b)
	AAA
	(

	(c)
	ASA
	(
	(d)
	SSS
	(


72. In the adjoining figure, the value of x is ………….


                                              2x0 + 10            x0 + 50 

	(a)
	110
	(
	(b)
	220
	(

	(c)
	20
	(
	(d)
	40
	(


73. In the adjoining figure the value of        xyz is 



	(a)
	600
	(
	(b)
	700
	(

	(c)
	300
	(
	(d)
	450
	(


74. In the given figure AB is…………

                                                                        A                              B

	(a)
	Diameter
	(
	(b)
	Chord
	(

	(c)
	Radius
	(
	(d)
	arc
	(


75. In the adjoining figure the value of a is……….



	(a)
	100
	(
	(b)
	600
	(

	(c)
	500
	(
	(d)
	700
	(


76. In the semi – circle AB = 16 cm BC = 12 cm & the length of AC is…………..

	(a)
	20 cm
	(
	(b)
	30 cm
	(

	(c)
	40 cm
	(
	(d)
	50 cm
	(


77. In the figure the angle between om & AB is……….


                                                                           A                                   B

	(a)
	00
	(
	(b)
	900
	(

	(c)
	450
	(
	(d)
	600
	(


78.
The first component of an ordered pairs is called ………….

	(a)
	 Antecedent
	(
	(b)
	Co-domain 
	(

	(c)
	 Range
	(
	(d)
	 image
	(


79. When f (x) is expressed as a (x – b)2 + k, the co-ordinates of  (x,k) represents….

	(a)
	Parabola
	(
	(b)
	Vertex
	(

	(c)
	Upward
	(
	(d)
	Strait line
	(


80. The graph of the function f (x) = ax2 + bx + c is a …………….

	(a)
	Vertex
	(
	(b)
	Co-ordinate
	(

	(c)
	Parabola
	(
	(d)
	Coefficients
	(


81. The distance of the point (4, 7) from y – axis is ………….

	(a)
	5 units
	(
	(b)
	4 units
	(

	(c)
	6 units
	(
	(d)
	3 units
	(


82. The Co-ordinate of the mid – point of the joint of (x1 y1) and (x2 y2) is given by (x, y) is…………

	(a)
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	(b)
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	(c)
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	(d)
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83. A line passes through (5, 7) and (2, -3) then its slope is…………

	(a)
	2/3
	(
	(b)
	4/3
	(

	(c)
	5/3
	(
	(d)
	10/3
	(


84. The diagonal of a parallelogram have a common……………..

	(a)
	mid-points
	(
	(b)
	Sides 
	(

	(c)
	Angle
	(
	(d)
	vertex
	(


85. A quantity which has both magnitude & direct is called …………..

	(a)
	Scalar
	(
	(b)
	length
	(

	(c)
	Mass
	(
	(d)
	Vector
	(


86. Vectors having the same length but different directions are…………

	(a)
	Inverse vectors
	(
	(b)
	Null vectors 
	(

	(c)
	Unit vectors
	(
	(d)
	Equal vectors
	(


87. A vector whose length is 1 is called …………….

	(a)
	Null vector
	(
	(b)
	Zero vector
	(

	(c)
	Unit vector
	(
	(d)
	Inverse vector 
	(


88. The relation obtained by interchanging the domain &          is called…….

	(a)
	Inverse relation
	(
	(b)
	Equal relation
	(

	(c)
	Opposite relation
	(
	(d)
	none
	(


89. A set which has no element is called……….

	(a)
	infinite set
	(
	(b)
	Finite set
	(

	(c)
	Solution set
	(
	(d)
	Empty set
	(


90. State whether each of the following is true or false……

	(a)
	1(
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91. Every element of the set x is also an element of the set; that is, x is a outset of y, which of the follows is correct?

	(a)
	XCY
	(
	(b)
	A & B and disjoint 
	(

	(c)
	2N 
	(
	
	
	


92. What is the radium measure of 500 30' ………….

	(a)
	1.8 radian
	(
	(b)
	2.5 radian
	(

	(c)
	0.881225 radian
	(
	(d)
	00.503 radian
	(


93. The sum of the series y, 5y, 25y, …. after 6 terms is equal to 19530.  The value of y is

	(a)
	 4
	(
	(b)
	 5
	(

	(c)
	 8
	(
	(d)
	 10
	(


94. If REASON is coded as 5 and BELIEVED as 7, what is the code number for GOVERNMENT?

	(a)
	 10
	(
	(b)
	 6
	(

	(c)
	 9
	(
	(d)
	 8
	(


95. The value of 
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 is equal to 

	(a)
	 1.34
	(
	(b)
	1.25 
	(

	(c)
	 .706
	(
	(d)
	 1
	(


96. When 25% of the pupils in a school were absent, the number of students present were 240.  How many pupils are there altogether?

	(a)
	 360
	(
	(b)
	320 
	(

	(c)
	 300
	(
	(d)
	 280
	(


97. Which of the following sign inserted in the parentheses will make the statement below correct?  
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	(a)
	 +
	(
	(b)
	 -
	(

	(c)
	 =
	(
	(d)
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98. Find out the formula to calculate sum of the n terms of geometric series?

	(a)
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99. Find the geometric mean between 2 and 
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	(d)
	None of the above 
	(


100. Find out, which is wrong ?

	(a)
	 (x+y)2 = (x-y)2 + 4xy
	(
	(b)
	 (x-y)2 = (x – y)2 – 4xy
	(

	(c)
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101. If 5:7 = 15 : x, then the value of x is 

	(a)
	 35
	(
	(b)
	 27
	(

	(c)
	 21
	(
	(d)
	 18
	(


102. The next number of the sequence 
[image: image83.wmf]is

,.......

27

,

36

,

26

25

,

25

16

,

24

9

,

23

4

,

22

1


	(a)
	 
[image: image84.wmf]28

47


	(
	(b)
	 
[image: image85.wmf]28

20


	(

	(c)
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103. A boys was asked to write 25.92 but he wrote 2592.  The numbered difference between the values of 25.92 and 2592 is

	(a)
	 0
	(
	(b)
	 1
	(

	(c)
	 2
	(
	(d)
	 3
	(
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